
BOX AND PAN FOLDER - 40"

Warren Machine Tools Ltd 
Warco House, Fisher Lane, Chiddingfold,Surrey GU84TD 

Tel: 01428 682929  Fax: 01428 685870 
E-mail: warco@warco.co.uk 

Web: www.warco.co.uk 

OPERATOR'S MANUAL 



CRUSHING & AMPUTATION INJURIES. The 
brake can quickly crush or amputate fingers, 
hands, or body parts. Never place fingers, hands, 
or body parts between or near the clamping fin-
gers and bending blocks during operation.

SECURING BRAKE. Before using, secure the 
brake to the floor so it can support the weight and 
dynamic forces involved in bending sheet metal. 
Otherwise, the brake may unexpectedly move 
or tip during operation, causing serious injury or 
property damage.

TOOLS IN POOR CONDITION. Using this tool 
with loose hardware or damaged components 
could result in sudden, unexpected movements 
during use. Inspect the brake for cracked compo-
nents, damaged linkage, levers, or loose fasten-
ers. Correct any problems before use.

LEAVING UNATTENDED. To reduce the risk of 
crushing or amputation injuries with children or 
visitors, lower the clamping leaf and lock the foot 
pedal down when not in use.

METAL EDGES. Sharp edges on sheet metal can 
result in severe cuts. Always wear leather gloves 
and chamfer/de-burr sharp sheet metal edges.

COMFORTABLE BOD Y POSITION. The required 
body motion to operate the brake can result in 
operator injury over time if proper ergonomics are 
not used during operation. Always keep your body 
centered with the machine and your back straight 
when using the foot pedal.

HEATING METAL. Heating the workpiece with a 
torch or welding it while clamped in the brake may 
weaken the fingers, blocks, and frame. Do not use 
a torch, welder, or other similar heating tool near 
the brake.

CAPACITY. Exceeding the capacity of the brake 
may result in sudden breakage that ejects danger-
ous metal debris at the operator or bystanders, or 
causes machine damage. Only use sheet metal 
that is within the rated capacity of this brake. 

FOOTING. This brake requires you to apply mod-
erate force to the foot pedal while bending. If your 
foot slips, you could fall down and be injured. 
Always stand with one foot comfortably on the 
floor during operation. Never use both feet on 
the foot pedal or jump on it. Never have one foot 
under the foot pedal during operation.

Like all machinery there is potential danger 
when operating this machine. Accidents 
are frequently caused by lack of familiarity 
or failure to pay attention. Use this machine 
with respect and caution to decrease the 
risk of operator injury. If normal safety pre-
cautions are overlooked or ignored, seri -
ous personal injury may occur.

No list of safety guidelines can be com-
plete. Every shop environment is different. 
Always consider safety first, as it applies 
to your individual working conditions. Use 
this and other machinery with caution and 
respect. Failure to do so could result in 
serious personal injury, damage to equip-
ment, or poor work results.



Identification

1. Bending Leaf – Swivel up to bend the workpiece.
2. Clamping Leaf – Holds the fingers. Squeezes the workpiece against the 

clamping block. 
3. Operating Handle – Used to raise and lower the bending leaf.
4. Finger Blocks – Adjustable dies that the workpiece is bent against. 
5. Clamping Block  – Fixed block (or lower jaw) that the clamping leaf 

presses against. 
6. Setback Knobs  – Adjusts to the gauge of the workpiece and desired bend 

radius
7. Clamping Pressure Adjusting Nuts  – Adjusts pressure on the workpiece, 

allowing for different gauges. 
8. Foot Pedal  – Raises and lowers fingers onto clamping block. 
9. Foot Pedal Lock  – Locks foot pedal. 
10. Stop Collar  – Used to lock bending angle 

1

2

3

4

5

6

7

8

9

10
7

6



• • • • • •

Setback
Adjustment

Knob

Graduated
Dial

Hex Bolt
(1 of 2)

1. Loosen the hex bolts (see the figture) 
on each side of the bending leaf.



2. Rotate one setback adjustment knob a small 
amount, then rotate the other knob the same 
amount and direction. This prevents the 
bending leaf from binding on the setback 
shafts and keeps it parallel with the clamping 
leaf.

 Note: The graduated dials are marked in 
0.05mm increments with one full revolution 
moving the bending leaf 2.5mm.

3. Repeat Step 2 until you have the correct set-
back, then re-tighten the hex bolts.

 Tip: Use calipers for a precise method of 
checking the setback.

foot
pedal

lock
plate

.

Make sure the clamping pressure is cor-
rectly adjusted for the workpiece thickness 
to prevent workpiece or machine damage 

when the foot pedal is fully depressed.

CAUTION

.

Using Foot Pedel



Adjusting Clamping 
        Pressure

When securing the workpiece with the foot pedal, 
the correct clamping pressure depends on the 
workpiece thickness. The ideal pressure locks the 
workpiece firmly in position between the clamping 
fingers and base without excessive compression 
that could damage the workpiece or brake.

Rotate one pressure adjustment knob a small 
amount, then rotate the other knob the same amount 
direction. 
This prevents the clamping leaf from binding on the 
shafts and keeps it parallel with the clamping base.

Note:  The graduated dials are marked in 0.05mm 
increments with one full revolution moving the 
bending leaf 2.5mm.

Pressure
Adjustment

Knob

Aligning Fingers

.

below figture



Spacing Fingers Basic Bending



Adjusting Work Stop

The work stop mechanism allows the operator to 
produce repetitive bends at the same angle.

To adjust the work stop:

1. Loosen the clamping cap screw on the work 
stop collar so the stop collar is loose on the shaft. 

2. Raise the bending leaf to the correct angle.

 Note: The scale on the stop collar displays 
the relative angle of the bending leaf.

3. Rotate the stop collar clockwise until it rests 
on the stop block, then re-tighten the clamp-
ing cap screw to secure the setting.

 Note: If needed, loosen the hex nut on the 
adjustable stop cap screw, then use the cap 
screw for additional adjustment.

Scale

Clamping
Cap Screw 

Adjustable
 Stop Cap
   Screw

Stop

Stop Collar

Block

Lubrication

The slide shaft ball oilers provide lubrication 
to the sliding surfaces between the shafts 
and the frame.

Sliding Surface 

Only lubricate these ball oilers with a pump-type 
oil can that has a plastic or rubberized cone tip. 
Do not use oil cans with a metal needle or lance 
tip, as they can push the ball too far into the oiler, 
break the spring seat, and lodge the ball in the oil 
galley.

When lubricating the ball oilers, first clean the out-
side surface to remove any dust or grime. Push 
the tip of the oil can nozzle against the ball oiler 
to create a hydraulic seal, then pump the oil can 
once or twice to add oil.

 Ball 
Oiler



The bending leaf rotates around the pivot shaft on 
bushings that require lubrication. Use an oil can to 
add lubricant to the hole shown in Figur e 26 (one 
on each side of the bending leaf), then raise and 
lower the bending leaf several times to distribute 
the lubricant.

Hole for Oil 
   (1 of 2) 

Bending Leaf Cam
Use mineral spirits and a shop rag to clean each 
side of the cam (see Figur e 27), then apply a thin 
coat of grease to each side. Raise and lower the 
bending leaf several times to distribute the lubri-
cant.

Bending Leaf Cam

Bending Leaf Pivot Bushings Setback Shafts

Raise the bending leaf until it is parallel with the 
floor, then add one drop of oil to the setback shaft 
locations shown in the figure Use the setback 
adjustment knobs to move the bending leaf back 
and forth along the shafts to distribute the lubri-
cant.

Lubrication Points



Parts Drawing



Part List

1             FRAME 29 CAP SCREW M10-1.5 X 20
2 CLAMPING LEAF 30 HEX BOLT M12-1.75 X 150
3 LEFT EXTENSION LEG 31 CAP SCREW M8-1.25 X 20
4 RIGHT EXTENSION LEG 32 FOOT PEDAL LOCK PLATE
5 BENDING LEAF PIN 33 ROLL PIN 10 X 40
6 BUSHING 34 GROOVED CLEVIS PIN
7 BENDING LEAF CAM 35 EXT RETAINING RING 10MM
8 SETBACK SHAFT 36 SHIM RING
9 BENDING LEAF 37 RUBBER HANDLE
10 BENDING STOP COLLAR 38 HEX BOLT M8-1.25 X 15
11 BUSHING 39 HEX NUT M20-2.5
12 SETBACK ADJUSTMENT KNURLED KNOB   40 LEAF PIN RETAINER
13 FOOT PEDAL 41 ANGLE SCALE
14 CLAMPING LEAF CONNECTOR 42 LEAF COMPRESSION SPRING
15 FOOT PEDAL PIVOT PLATE 43 BENDING BLOCK
16 FOOT PEDAL PIVOT PIN 44 BENDING BLOCK 
17 FOOT PEDAL LEG PIN 45 BENDING BLOCK 
18 CLAMPING LEAF LOWER STRUT 46 BENDING BLOCK 
19 PRESSURE ADJUSTMENT KNURLED KNOB
20 CLAMPING COMPRESSION SPRING 48 CLAMPING FINGER 
21 SPRING RETAINING NUT 49 CLAMPING FINGER 
22 CLAMPING LEAF UPPER STRUT 50 CLAMPING FINGER 
23 GRADUATED DIAL 51 T-NUT M10-1.5
24 TAP-IN BALL OILER 10MM 52 BUSHING
25 CONNECTOR ROD 53 EXT RETAINING RING 24MM
26 WORKPIECE SUPPORT 61 LIFTING BRACKET
27 CLAMPING BASE 62 CAP SCREW M8-1.25 X 20
28 EXT RETAINING RING 25MM

47 CLAMPING FINGER




